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First/Second Semester B.E./B.Tech.Degree Exam ation, June/July 2023

Time: 3 hrs.

Basic Electronics for EEE Stream

Note: 1. Answer any FIVE full questions, cho
2. M : Marks , L: Bloom’s level , C: Co_‘
3. Assume missed data.

outcomes

Max. Marks:
ing ONE Jfull question from each module.

100

M| L C
Q.1 | a. | Explain forward and reverse character1st1cs of semiconductor dmde 8 | L2 | CO1
b. | Calculate forward and reverse, resistances offered by a silicon diode with | 4 | L3 | CO1
I = 100mA at Vg = SOV Assume Vr for 51l1con dlﬁde to be 0.75V and
reverse current [g ~ 100nA W
c. | What is piecewis‘ﬁé:“”iihear characteristic? Witl”i}‘ff;‘fﬁeat diagram explain diode | 8 | L2 | CO1
approximation of Ideal diode and practical diode.
OR "
Q.2 | a. | Describe the working of full wave- brldge rectifier. 8 | L2 | CO1
b. | Explain zener diode as voltﬁg;é?iregulator with no éloaéi and with load. % 6 | L2 | CO1
c. | [llustrate RC- = filter. 6 | L2 | CO1
Mod
Q.3 | a. | Explain ou,tput”‘characteristics of atrar 6 | L2 | CO2
b. Descrlbe be the procedure for dravfﬁ‘mg dc — load, llne on transistor CE output | 8 | L2 | CO2
charactenstlcs
c. | Calculate I, and I5 for a transistor that has apc = 0.98, Iy = 100pA. Also | 6 | L3 | CO2
determine the Valgeii"”éi'f Bpc for the transistor.
Q.4 | a. | Explain common Emitter input characteristics. 6 | L2 | CO2
b. | Explain how transistor can be used as current amplifier. 6 | L2 | CO2
c. | Explain the working of N-channel JFET. 8 | L2 | CO2
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Module — 3
Q.5 Explain Inverting and Non-inverting amplifier. 8 | L2 | CO2
Define Op-Amp. Mention any 5 ideal characteristics ofan:i\~op;amp. 6 | L2 | CO2
Draw a summer circuit with Vi = +1V, Vo =+3V; V3 = +2V R,=R,=R3| 6 | L3 | CO2
= 2KQ. Determine the output voltage when RF # 3K.Q
OR _
Q.6 Explain the working of op-amp as Differentiator. 8 | L2 | CO2
Define : = - 6 | L2 | CO2
i) Input offset current  1i) Input bias current iii) slew rate” «iv) CMRR
With block diagram, explain basw structure of an Op amp Also write its | 6 | L2 | CO2
equivalent circuit diagram.., «
Module - 4
Q.7 Convert the followmg o 6 | L2 | CO3
i) (2AB.8)is= (o
ii) (416.12)10 =( ) ‘
iii) (25.375Nh0=( ) L
iv) (16 2)8 =( )i "
Find complement of the function 8 |L2|CO3
i)F1=x'yz'+x'yz i) F, —-wx‘(yz +yz)
Using De-Morgan’s theo;e%“‘i
Explain the working of Half adder. 6 |L2|CO3
Q.8 6 | L3 | CO3
Mentlon thewpostulates and theome 8 | L2 |CO3
sg, o, 4(“11
Explam the working of fulL adder 6 | L2|CO3
Q.9 6 | L2 | CO4
6 | L2 | CO4
With neat block dlagram, explgnn the workmg of communication system. 8 | L2 | CO4
~__OR
Q.10 Describe a Thermistor and sketch approximate resistance/temperature | 6 | L2 CoO1
characteristics for @ thermlstor
Write a short notes of photo d1odes 6 | L2 | COS
What is modulat10n‘7 Describe the need of modulation in communication | 8 | L2 | COS
systemi, =
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